PROBLEM SET 2-1
(Relations and Functions)

Graph each relation.

Lo {(-13),(-2D.(-3-3),(-4-5)}

i)

Make a mapping diagram for each relation.
3. {(-2.8),(-11),(0,0),(L1),(2,8)} 4. {(5,10),(10,5), (15,20), (20,15)}
Determine whether each relation is a function.

5. {L1),(2,2),(35),(4,10),(515)}

(e

For each function, find f(-5), f (-3), f(%) and f(4)
7. f(y)=-3y-2 8. f(X)=-x-7

9. f(x)=2x-3 10. f(x):§x+%

State the domain and range of each relation and determine whether it’s a function.

3 1)(51)(11)( 31
11 {(-1D.(-2,2),(-33),(-4,4)} 12. {E’_E]’(E’EJ’(E’EM_E’Ej}

13, {(-12),(-25),(-2,7),(0,2),(9,2)}

14.




Determine whether each graph represents y as a function of x.

15.

A
v

16. — A

A
v

v

Suppose f(x)=2x+5 and g(x):—%x+2. Find the value of each.

17.  f(-4) 18.  2g(7) 19. —2f(x+1) 20.

f(=2)
g(f(-2)+1)

R0
9(3)



